MATH 1314

Final Exam Review

30 Multiple Choice Questions (Equally Weighted)



1. Find the slope of the line that passes through the points (4,6)
and (- 2,-4). <Y,
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2. Find the x and y intercepts 2x +8y +2 =0.
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3. Solve for x:
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5. The perimeter of a rectangle is 70 m. If the length 4 times its
width. Find the length of this rectangle.
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6. Find three consecutive integers whose sum is 336.
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7. Solve by factoring: Zx +5x+3 0 4(7/'3/-6 o) X )
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8. Solve by factoring: x2
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9. simplify: (2i-1)<(1-1i)
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12.Simplify:
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13. Solve for x: -25@‘:2
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14. Solve of x: j+ 2x+5=7
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15. Solve for x: ~2/x -1 < -6
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16. Solve forx: 3x-4(<5
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17. Find the domain: f(x) = :: +i
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18. Find the domain: f(x)=/3x+9
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19. Calculate f(2)if f(x) = -2x2 +3x - 2.
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20. Calculate f(4)if f(x)=
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21. Solve for x using substitution:
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22. What reflections and transformations take f(x) = x|to the
function f(x)=3-|x-1
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23. Find the function form the graph. .
(4,3)”(“’}) ¥ ﬂp(x) = A X~ %) + s

| 2 Y Loy za )+ 7

\D21 Plhy o 2y (xy) port
A Oz (~143) 42
o - = (Z) ij

/ ¢ »fa)

O - L/Q 7‘2
= o= "2 ™3] (rioy
‘C I 27 2 ’3/7 = a ﬁ(x)r ‘:;‘ (»<+3)(><+3) + 3
- = =X + — -3 -+
(W= gX TzZXTF Fro= 2 (X3 35+ 9) 13

K\
ﬁog; -2 (<6< +) 3
-3 = | ¥
‘Q(X): ~7)< — —;X/%Z fé‘::/




24. Find the vertex; f(x) = x2 -14x + 64
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26. Given f(x) =2x +3and g(x) =£_+/25 - 2 > 4 2

a. Find (f-g)(x) = —ﬁ{j(x)) = f()v%zx) :2(X7f+z></ fg%

ACx)z2 XL D
b. Find (gofx_l)Tﬁ@(_;)>fj(')i ()) +2C) = /ﬂ"LZE

o Q

e-»: 20D +2 = 242>



27. Find the inverse of f(x) = ﬁ
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28. The function which corresponds to the graph.
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29 Find the quotient and remainder 2x” +13x” +28x +21

x2 +3x+1

7x+ ) T KRExD
Z }'/ Z
XA Bx4] | 25T /3N 2 Fe + 2
=2 }ﬁgaxif;?zx. J

S L6 +2)
< )(1’§22ﬂx'£:%

5—)( 7‘/?—’- K(X)

(R(x) = 2Z~Tt7 I x+7 Sx17
(x) = SN/ allicad

491]Z2u5@\

O (=247
1\
Ax

ZxC<*43x r )220 g % o
Sa bbb/

7(>‘143"+(>1 /X x #
Sadbt st
@D{jf(e o S /4 s\

Pe g/ o XTHLat) s 2
| <2 == Porno



30. Find the quotient and the remainder - 2x ; }ix ~16
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31. Find the zeros of a polynomial by factoring:

f(x) = x2 -8x +16
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33. What is the transformation of the key point (1, 0):
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35. Solve: logy(x-1)=0
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